Week 12: Notes for Year 2 parents
 (Remember gold prizes from me for neat outstanding work)
· Write the date (today's date)
· Write the L.O:
· Miss a line 
· Question numbers in the margin and write answers on the line.

(I will be asking your parents if your work looks neat and I myself will check your work once you come back to school inshaallah)

Parents please show them the PowerPoint slides for their Year group, as it gives them model questions and practise on how to do the working out. Please refer to it daily so that you are reinforcing the skills and ideas.

The children should start the first worksheet for their year group, and if they feel confident, they should move on to the next worksheet as the work becomes more challenging.  
Challenges: Write an explanation of how you know the answer is correct.

Wednesday 10th June 2020

Year 2 Maths
REMEMBER: Spend at least 10 minutes a day memorising your times table!

SPECIAL PRIZE: 
If you memorise all of the times tables when you return to school!


Note to parents: I have attached some fun links that will be useful in supporting your child’s learning. Please copy and paste the links below into your web browser to access.
Please click on the links for more information:
https://www.youtube.com/watch?v=pEot9b07lnk
[bookmark: _Hlk41506912][bookmark: _Hlk40284708]
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4a. Letter A weighs 12g more than 4b. Parcel A weighs 10g more than
parcel B.

letter B.

B A B,

? 179

How much does Parcel A weigh?

Sa. The peach weighs more than the | 5b.The plum weighs more than the
banana but less than the carrot. strawberry but less than the apple.

6a. Demi and Nick are measuring 6b. Julian and Jada are measuring
welght in grams (g). weight in grams (g).
My box has 5
’:* '";;‘ ‘iy"‘“" things inside so it
than Nicks <o ¢ must weigh more
must weigh more. han Todars,

My box is smaller My box has 3
than Demi's but it things inside so it
could still weigh ‘must weigh less
‘more than hers. than Julian’s.
Who do you agree with? Why? Who do you agree with? Why?

Give an example. .| Give an example.
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Reasoning and Problem Solving — Measure Mass in Grams

7a. Parcel A weighs 15g more than 7b. The biscuits weigh 26 more than

parcel B. the chocolate.

? 669

How much does the chocolate weigh?

8a. The orange weighs more than the | 8b.The carrot weighs more than the
plum but less than the apple. strawberries but less than the banana.

A

9a. Tabitha and Craig are measuring | 9b. Albert and Joel are measuring
weight in grams (g). weight in grams (g).
The arrow on the
scales is between 60
and 70g. The item
must weigh 65g.

My box is bigger
than Joel's and
weighs 262g.

If the arrow is My box is smaller

mbezwheen 60 ﬂndm than Aberts and (|
g, the item coul weighs 262g.

weigh 61 - 69g. n

Who do you agree with? Why? Can both boys be correct? Why?
/7 Draw an example. |7 Give an example.
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Reasoning and Problem Solving — Measure Mass in Grams

1a. The strawberries weigh 5g more
than the blueberries.

2a. The oil weighs more than the rice
but less than the flour.

How much could the oil weigh?

v

3a. Hannah's box weighs 23g. Ezra’s
box weighs 7g more.

Ezra’s box weighs

1b. The chocolate weighs 7g more than
the ice cream.

2b. The toy robot weighs more than the
toy car but less than the toy train.

How much could the toy robot weigh?

3b. Umera has 2 boxes of toys and
Josef has 1 box of toys.

Thave more
boxes than Josef,
S0 mine must
weigh more.

My box can still
‘weigh more than
Umera's box.

Who do you agree with? Why?

+ +| 1y Give an example.
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